Math 33A Midterm 1

MATTHEW GUAN

TOTAL POINTS

55/55

QUESTION 1 - 1 pts (b) Incorrect/missing explanation

1Question 110/10
v - 0 pts Everything correct

- 2 pts (b) A little correct work

- 3 pts (b) Incorrect matrix or didn't compute matrix
v - 0 pts (c) Correct: $$A = \left[\begin{array}{cc} 2 &
-5\\ -8 & 22 \\ 8 & -17\end{arrayp\right]$$

- 2 pts (c) Right computation, but incorrect final

- 1 pts Minor mistakes
- 1.5 pts Moderate mistakes (such as incorrect rref

computation)
) answer
- 2.5 pts Incorrect/Incomplete conclusion )
) o - 3 pts (c) Partially correct
- 0 pts Something else is incorrect (See the
- 5 pts (c) Incorrect

comment)
- 1 pts Small arithmetic mistake
QUESTION 2
. QUESTION 5
2 Question 2 10/10 .
5 Question 515/15
v - 0 pts Correct
Part (a)

-1 pts minor error

. v - 0 pts Everything correct
- 2 pts several minor errors
- 3 pts Incorrect RREF

- 10 pts Click here to replace this description.

- 2 pts Incorrect/incomplete explanation
- 2 pts Incorrect answer/example

- 3 pts No solution

QUESTION 3 - 0 pts Something else is incorrect (See the
3 Question 3 10/10 comments)
v - 0 pts Correct Part (b)

- 1 pts Small computation error v - 0 pts Everything correct

- 3 pts Incorrect TST - 2 pts Incorrect/incomplete explanation

- 3 pts Incorrect geometric interpretation part (c) - 3 pts No solution

- 10 pts Blank - 0 pts Something else is incorrect (See the

comments)

QUESTION 4

Part (c)
v - 0 pts Everything correct

4 Question 4 10/10
v - 0 pts (a) Correct: $$T\left\begin{array}{c} 8 \\
3\end{arrayJ\right]=\left[\begin{array}{c} 1\\ 2 \\
13\end{array}\right]$$

- 2 pts (a) Incorrect

v - 0 pts (b) Correct: $$A\left[\begin{array}cc} 3 & 5
\\ 1 & 2 \end{array}\right] = \left[\begin{array}{cc}1& O Part (d)
\\ -2 & 4 \\ 7 & 6\end{array}\right]$$ v - 0 pts Everything correct

- 2 pts Incorrect/incomplete example/explanation
- 3 pts No solution
- 0 pts Something else is incorrect (See the

comments)



- 2 pts Incorrect/incomplete explanation
- 3 pts No solution
- 0 pts Something else is incorrect (See the

comments)

Part (e)

v - 0 pts Everything correct
- 2 pts Incorrect/incomplete example/explanation
- 3 pts No solution
- 0 pts Something else is incorrect (See the

comments)

Page 2



Instructions:
The exam will begin on April 19th at

[V] The exam will be open boc
on our CCLE page.







1Question 110/10
v - 0 pts Everything correct
- 1 pts Minor mistakes
- 1.5 pts Moderate mistakes (such as incorrect rref computation)
- 2.5 pts Incorrect/Incomplete conclusion

- 0 pts Something else is incorrect (See the comment)
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2 Question 2 10/10
v - 0 pts Correct
- 1 pts minor error
- 2 pts several minor errors
- 3 pts Incorrect RREF

- 10 pts Click here to replace this description.
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3 Question 310/10
v - 0 pts Correct
- 1 pts Small computation error
- 3 pts Incorrect TST
- 3 pts Incorrect geometric interpretation part (c)
- 10 pts Blank
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Q4. (10 points) Let T'be a linear transformation from R? to R? such that
e

o = Bl

Let A be the matrix of T', i.e., A is the matrix such that T(%) = C'
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4 Question 4 10/10
v - 0 pts (a) Correct: $$T\left[\begin{array}c} 8 \\ 3\end{array)\right]=\left[\begin{array}{c} 1\\ 2 \\
13\end{array)\right]$$
- 2 pts (a) Incorrect
v - 0 pts (b) Correct: $$A\left[\begin{array){cc} 3 & 5 \\ 1& 2 \end{array}\right] = \left[\begin{array}{cc}1& 0 \\ -2 &
4 \\ 7 & 6\end{array)\right]$$
- 1 pts (b) Incorrect/missing explanation
- 2 pts (b) A little correct work
- 3 pts (b) Incorrect matrix or didn't compute matrix
v - 0 pts (c) Correct: $$A = \left[\begin{array}cc} 2 & -5\\ -8 & 22 \\ 8 & -17\end{array)}\right]$$
- 2 pts (c) Right computation, but incorrect final answer
- 3 pts (c) Partially correct
- 5 pts (c) Incorrect

- 1 pts Small arithmetic mistake
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Q8 (15 poiis) bor each af the following prablems, determine whether a matris with the given praperties
sats or not I such @ matioo exists, then provide an example and briefly explain why your chaice of

matrix has the desived praperties. Otherwise, use the results from class ta explain why there is no such
matims
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(Here, A° = /;\AA.Tenots the product of five A's, and I, is the n x n identity matrix.
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5 Question 515/15
Part (a)
v - 0 pts Everything correct
- 2 pts Incorrect/incomplete explanation
- 2 pts Incorrect answer/example
- 3 pts No solution

- 0 pts Something else is incorrect (See the comments)

Part (b)

v - 0 pts Everything correct
- 2 pts Incorrect/incomplete explanation
- 3 pts No solution

- 0 pts Something else is incorrect (See the comments)

Part (c)

v - 0 pts Everything correct
- 2 pts Incorrect/incomplete example/explanation
- 3 pts No solution

- 0 pts Something else is incorrect (See the comments)

Part (d)

v - 0 pts Everything correct
- 2 pts Incorrect/incomplete explanation
- 3 pts No solution

- 0 pts Something else is incorrect (See the comments)

Part (e)

v - 0 pts Everything correct
- 2 pts Incorrect/incomplete example/explanation
- 3 pts No solution

- 0 pts Something else is incorrect (See the comments)
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